El condor pasa

Solo
! 0 3 0 3—5—3 0
> —" — Py 1—0—1—3
% 2
IR O R O I B | ] L
Tutti
LAm/ SOL/ DO
2 0 0
3—1 3—1 1 0 1—0—1—3
2 2 a/ 2—1—2
2
I I I S | . | S I [ [
DO - SOL DO SOL DO MI LAm LAm - MI LAm
17 3 0 3—5—3 0 0
3—1 3—1 1
2 2
| . I I I O [ O I . .
LAm LAm SOL DO DO - SOL DO SOL DO
%5 5 —— 0 3 0 3—5—3 0
m pa—— 1—0—1—3
2
| I I R I R O O | L
MI LAm LAm - MI LAm LAm FA FA FA
20 r— -~ 1 0—T—5——4—T—5—4—5—4——5—5
2 2 v
[ 0 I | | A N N
SOL DO DO DO DO FA FA FA SOL
4 8—5 3 5—3 0 0 5——4 5—4—5—4 5—5 8—5—

~2

L

El condor pasa 1/2




DO DO LAm MI LAm LAm - MI LAm
23 5—3 0 0
3—1 31— 1 > "
2_
. I I R S | . | I
LAm SOL DO DO - SOL DO SOL DO MI
28 0 3 0 3—5—3 0 0
1—0—1—3 3—1—
—2—1—2
I 1 T S | . I O I ] L
LAm LAm - MI LAm LAm LAm SOL DO DO - SOL
66 0 3
—3—1 1 0 1—0—1—3
2 2 i 2—1—2
2
| | . | I [ O A |
DO SOL DO MI LAm LAm - MI LAm LAm
P 0—T—3—5—3—7—0 0—— - 0—
1 1= 1 , -
] L N I 0 I | | I
FA FA FA SOL DO DO DO DO FA
54— 5—4—5—4 5—5 8—5 3 5—3 0 0 5——4—
7
A I I I - - | L0
FA FA SOL DO DO LAm MI LAm
A 5—4—5—4 5—5 8—5 3 5—3 0 0
3—1 3—1
2
L I I I N S I
. .
LAm - MI LAm LAm - MI LAm LAm - MI LAm LAm - MI LAm/C
99
! 2 2 ! 2 1 2 ! 2 ¢

El condor pasa 2/2



